
qm=;+= >]0fL kb b/aGbL :yfoL s/f/ l/Qm

1 /f=k= låtLo >]0fL sfo{sf/L clws[t 1 1 ô ô

2 clws[t :t/ ;ftf}+ jl/i7 clws[t 2 2 ô ô

3 clws[t :t/ ;ftf}+ jl/i7 OlGhlgo/ 2 2 ô ô

4 clws[t :t/ 5}7f}+ zfvf clws[t 5 5 ô ô

7 clws[t :t/ 5}7f}+ k|f= OlGhgLo/ 2 2 ô ô

6 clws[t :t/ 5}7f}+ cf=n]=k= clws[t 1 1 ô ô

10 clws[t :t/ 5}7f}+ n]vf clws[t 1 1 ô ô

11 clws[t :t/ 5}7f}+ k|f= sDKo'6/ clws[t 1 1 ô ô

17 ;xfos :t/ kfFrf}+ k|zf;g ljQLo Joj:yfkg ;xfos 1 1 ô ô

18 ;xfos :t/ kfFrf}+ k|zf;g ;fd'bflos ljsf; ;xfos 1 1 ô ô

12 ;xfos :t/ kfFrf}+ tx k|zf;g gf=;'= 17 17 ô ô

14 ;xfos :t/ kfFrf}+ k|f= ;a OlGhgLo/ 2 2 ô ô

19 ;xfos :t/ rf}yf] tx vl/bf/ 18 18 ô ô

20 ;xfos :t/ rf}yf] txk|f= sDKo'6/ ck/]6/ 1 1 ô ô

21 ;xfos :t/ rf}yf] tx k|f= cldg 1 1 ô ô

22 ;xfos :t/ rf}yf] ;j cf]e/l;o/-l;len_ 1 1 ô ô

23 ;xfos :t/ rf}yf] tx k|f= hdbf/ 2 2 ô ô

24 ;xfos :t/ rf}yf] tx k|f= l;lgo/ 6]SgLl;og 1 1 ô Ò

25 ;xfos :t/ t];|f] tx k|f= ;xfos On]S6«Ll;og 2 1 1 ô

26 >]0fL ljlxg k|f= ;jf/L rfns 11 8 3 ô

27 ;xfos :t/ klxnf] k|f= kmfo/ d]g 15 13 2 ô

28 ;xfos :t/ klxnf] k|zf;g rf}sLbf/ lkog 29 29 ô ô

29 ;xfos :t/ klxnf] dfnL 2 2 ô ô

30 ;xfos :t/ klxnf] gu/ k|x/L 9 8 1 ô

31 ;xfos :t/ klxnf] s'rLsf/ 3 3 ô ô

hDdf M 131 124 7 0
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